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Note :  Answers may be written either in English or in Hindi; but the same medium should be

\\ used throughout the paper.
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| Attempt All questions.
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SECTION A |
(@uE ‘=)
1. (a) State whether the following are True or False (Do any five) : 5

frefafes § @ o9 4 91 o omd ¥ (8 Ui Fif)

()  Subject term is always distributed in O proposition.

omﬁm'wﬁamaﬁf% |
P.TO.
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(i) “All flowers are beautiful’ and ‘some flowers are beautiful’ are contrary to

each other.

T
(#if). ‘Hence’ is a conclusion indicator.

‘a:’ T freed fewie § O

(iv) The universal proposition does have existential import.

‘et 757 gX ¥ 9w ‘Hw T gX ¥ Sl TE-gW & faada !

gaeadl gfagid § g dcqd ol §

(v) In categorical proposition E both subject and predicate terms are undistributed.

i

freufus whahd £ 8 S2va aa fadg 94 W sed @ ¥ |

(vi) A valid argument can have true premises and false conclusion.

o Ve,

TF dY IR H UG §d TE Y o @ gehdl ¥

(vii) A syllogism always has two premises.

@mgﬁﬁﬁuéaﬂéﬂmaﬁ‘%t

~ (viii) AOO is a valid mood in Figure IIL

THE 1 F A0 TH W dm ¥
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(b) Fill in the blanks (Do ahy five) : 5

(1) ContrapoSition is .......ceceevevercerrenuenns inference.
FRaREd T ST o
(i) Quality and Quantity are applicable to ........ocvvurrennnnne.
-{IUT -Qa’ -qﬁqm ......................... Q -g.af‘aa % |
@) N e proposition both subject and predicate terms are distributed.
......................... mﬁmamﬁa—qwﬁmm% |
(iv) AAA s e s mood in Figure I1.
AAA a@ﬁ_‘. I -ﬁ ......................... -d:rr[ % |
(v) Obverse of E proposition is .....c.cccececeeeerverennen
E gfaafa @1 TREds § o |
(vi) The standard form of ‘Few soldiers are not brave’ is ..........cccoeveeuruenes
‘o FouE ERE T Y @ AR SHE QA e |
(vii) Contraposition of ........ccceeeeevercnene proposition is not valid.
......................... wfaafa &1 wiqafadT 3y =& ¥

P.T.O.




( 4) o 242
(c)  Answer briefly (Do any fen) : ’ 20
e s A (3 | Hif) -
() What do you Uhderst.and by Quality and Quant‘ity of a Proposition ?
m&_mwmﬁmwm% ?
(#) Staté the différence betWeen a ‘word’ _aﬁd ‘term’.
R A T e
(@if) Define the fallacy of i]‘licit major. . |

F9Y WA T AV H IR wifEw |

LY

(7v) Define deductive reasqning.
T g & aRamen dfwe
(v) State 'the obverse of ‘No roses -are yel\low’.
R ﬁgaﬁr el & %’Wwﬁaﬁamaﬁﬁq |
(vi) State the converse of ‘All saints were martyrs’.
‘Teft 9a vEie ' e yRafdd &9 aaRu |
(vii) Name the four,oppos_ition- felation explained by traditional square éf
© opposition.

mﬁﬁaaﬁmwﬁawﬁﬂa'ﬁézﬁﬁmw:
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(viii) Is propbsition language neutral ?
& wfeafa s e ad & 2
(ix) What.is the significance of middle term in t};ev categorical syllogism ?
qmﬁmﬁwwﬁaﬁummwwqﬁ%?
(x)  Why O proposition cannot be converted ?
0 uﬁaﬁa F URedd = e ‘@'cn g2
(xi) Is EIO a valid Mood in First Figure ?

®N EIO 999 i § W ay am § 2

| (xif) Explain the difference between Sentence and Proposition.

g Td gfaafa & 95 @) SAred wifae |
(xiif) Reduc¢ into standard form :
fefafed & @fes smer dfsm .
(@) Orchids are not beautiful flowers.
fere & HA G T8 oW T |
(b) - Féw stones are precious.

fot @ wmd W E

P.T.O.
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.(xiv) Give the contradictory of the following :
Frefefan & o w9 AR
(@) Some fruits are tasty.
O T @R o |
(b)) No man is perfect.
wE of wgea o A ¥
(xy) What is class as conc;ivefl by Aristotle ?
ORE B W R aqaumnw% ?
Answer any three of the following :
mﬁ i ¥ &5 9 &g
) IerIO a valid mood in fourth figure ?
9 EIo 9gd omHfa H 9y ¥ ?
(i) Write a note on Distribution of Terms.

ﬁﬁwﬁmwﬁmﬁml
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(iiiy How the modern approach to opposition of proposition is a jolt to the Traditional
r | square of opposition ?
W folw o & fou anyfre v@ R YRR ©F wed ¥ 7 @

Hifs |

(iv) Explain and illustrate the rules of conversion.

It & fradl w1 e wfed wmen #ifvg |

(v) What does Mood signify in a categorical syllogism ?

g =rgfe & ‘9’ @ w7 a@1d § 2

3. Putany one of the following into standard form categorical syilogism and indicate its figure

and mood : 4+1+1=6

frefafen 4 fodt w6 Ifm =1 9% 9Fe seR Frdw =egla o ofel
HIT Td ISR TFHfA TS A oqEy -
(@) Some reformers are fanatics, so some idealists are fanatics, since all reformers are

idealists.

FF GURE uHi Bd ¥ oT: e Ayiarl waiy g ¥ wefe |ef
QURE AR 3§ |

P.T.O.
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Or
(3rran)

(b) No mechanics are writers and some photographers are writers. Thus some photographers

are mechanics

ﬁé&ﬁﬁ%ﬁmé@mqﬁ%wwuﬁaﬂmm@ﬁ% 31d: HS IR
.ﬁ@ﬁa?‘aﬁ?f%

Test the validity and invalidity of any fwo of the following : _— 2+2=4
Preaffan @ 4 fedl @ F Jsdm B wam AR
() AEE-3
(i) AAI-1
(i) AAE-2.
SECTION B
(Tvg ‘@)
“Identify and explain the informal fallacies committed in the following passages
(Do any five) : ) | | 10
frfefed Taiel § SETEIRG TEQY @iy T e i e (FE ue
H)
(a) Each pért of this machine is light. Therefore the machine as a whole is light.
Tq WY 1 YE Y Tohl § | OW: YA WY TR R

(b) A mother says to her son, “Will you ‘bring me the car keys” ?

@ﬁmgﬂ-@mﬁ%ﬂ‘w_gﬂﬁifﬁqwaﬁmﬁéw&hﬁ"?
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Noted psychologist Dr. Edward Jones recommends that you buy Ford Fiesta car. So

we should buy Ford Fiesta car.

Thag THETRE O T S W oy ¥ fF anod WE RRwEn w1

T =fer | sw: B WiE fewwn wR wlcH =R |

Can you send a person to jail, the father of five children who lost their mother only

two weeks ago ?

_wm@wﬁaﬁwmﬁwém%ﬁﬁﬁaaﬁmm
R R IR I -

Father tells his son, “Rakesh next time before giving you pocket money, I will check

your report card”.
frn % T @, TR el AR da wd 2 @ g Rad e
a@.ﬂn | ' :

A black cat crosses the path of a traveler and shortly afterwards the traveler broke

| his hand.

TF FE faeet ¥ T gt w O e G ot %53 @ ) 9w s anh

H TS T W

He is a big poet because he is from a big country.

%@@W%ﬁﬁ%@@%ﬂmﬁm%l
- PTO.
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(10 )
Explain and illustrate any two of the foliowing :
frafafea # 3 fvdl < =t IRRw =rEm ST

{a¢) Argument Ad Populum

[GlEaRECR S|

N
o
Secans”

False cause
foer o g9
(¢) Failacy of Composition.

EeE 39 |
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